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B.Com. (First Year) Examination, 2017

BANKING AND BUSINESS ECONOMICS
(Economic Environment in India)

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(Evs-31)
Answer all questions (50 words each).
All questions carry equal marks.

Tt WA sfrad € T W W I 50 W Q@
sifier =1 2 Tt W B ofw @Em

PART-B [Marks : 50]
(@ve-9) .
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.

TF THE 9 UH-T& T TN T, T Ui W w
T YT W IW 250 VR ¥ s 7 @
it W ® F quA B
PART-C [Marks : 30]
(Tve-1) '
Answer any two questions (300 words each).
All questions carry equal marks.

FE S W FITC TEF 99 FT IW 300 IR A
afum T B ot WA B o Tum &)
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PART-A
(@vus-31)

UNIT-I
GFE-)
1. (@)  What do you mean by Economic Environment ?
i wElERor W ey wN WA € 2
(i) Explain the Concept Poverty.
TE W SEYEOT IHEEl
UNIT-1I
(gFTE-1D)

(i) When did Planning begin in India and how many
five year plans have been completed ?

qRa H PR w9 TR gOT qen o % fRaH
Yoadi Ao gl @ g € 2

(iv) Explain any four important factors of new
agricultural strategy.

F ® TR e T F OHBE W FIE TS
e iU '
UNIT-III
(R
(v)  What is mean by Industrial Policy ?
st Ay ¥ wF afm 7 2
(vi) State the main problems of Small Scale Industries.
oY SE & YHE SEE Saensul
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UNIT-1V

(FHE-TV)
(vil) What is import substitution ?
T W Fn ® 2
(viii) What is Foreign direct investment ?

vy faiett few = € 2

UNIT-V

FFE-V)
(ix) What are the natural Constraints in the Agricultural

Development of Rajasthan ?
TRAR ® F o w wpfs e = €2
(x) - Discuss the meaning of Liberalisation.

ITAFC Fw e guEEd

PART-B
(TEue-9)

UNIT-I

(FFTE-1)

2.  Discuss briefly factors affecting economic environment.

aftiF wafERer @ gwifad w9 USH ki GE9 H
guEmET
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OR (s7e@n)
Examine the Present population policy of Government

of India.

ARG THR H qAIH THEE AT H GEE Hiw)

UNIT-II

(3FTE-10)
Discuss the main objectives of economic planning.
MidF Frem 2 Tg@ RE w ool st

OR (37an)
Discuss briefly impact of World Trade Organisation on
Indian Agriculture.

fava =MR T # 9N F W TN OI9E T8,
Tdy ¥ gumed |

UNIT-III

(3TE-110)

Critically discuss the role of Multi-National Corporations

in Economic Development of India.
IRA & i foww W aguem el w5 afier @t
A=A AT e
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10.

11.

] OR (312@) _
Write a note on "Challenges of Globalisation and Small
Scale Industries".

mﬁﬁhﬁwmm”mmw
fafam)

UNIT-1V

(FFE-IV)

Explain the composition of India Foreign Trade.

T # At =R W e W W swhm
OR (3Fem@m)

Discuss the present Export-Import Policy of India.

T W A Frei-omE e # e #ifw

UNIT-V

(FHTS-V)

Explain the place of Rajasthan in the Indian Economy.

A oref-sEen § TR W fef wme #if
| OR (372@N)

Discuss the impact of Liberalisation on Industrial

Development of India.

TEFO F UG ® S fawm W owEE wi
fae= =S
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12.

13.

14.

PART-C

(TU=-q) \
UNIT-I |
(FTE-T)

Discuss the causes of unemployment in India. What efforts

made by the government to remove this problem ?  (7+8)
Wﬁéﬁaﬁ%ﬂmaﬁqﬁwam%
T # fu T@R 4 FR-ER ¥ WS fE ¥ 2

UNIT-II

(gFTE-11)
What are the main achievements of Planning in India ?
Light on the failures of Planning in India. (8+7)
aRa § FrRiem # TE STateE @ ¥ 2 e @@
fawemiell ® @t whw =ifem)

UNIT-1II

(FTE-11D)
How the present Industrial Policy of India is different from

Preceeding Policies ? Discuss its major Proposal. (5+10)

9RG H wHE e Hift qdad Afe 9 fFE TR
fm § ? T W@ UM @ fGaem s
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15.

16.

UNIT-1V

(FFE-IV)
What are the causes of adverse balance of payment in
India ? What efforts have been made by the Government
of India to solve this problem ? Explai_n. : (8+7)
9RE ¥ YR Ge % Whee gH % w B ¥ 2
™ T FE H AU GG TER T T I
¥ 2 W |

UNIT-V

7 (FETE-V)

‘Explain the role of Tourism in the Economy of Rajasthan.

o W oefeeer ¥ wed w g w1 9vd
EIEL
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